Case 19-10702-MFW Doc 952 Filed 0//08/20 Page 1 of 15 Docket #0952 Date Filed: 04/08/2020

UNITED STATES BANKRUPTCY COURT DISTRICT OF DELAWARE

)

)

In re:

SOUTHCROSS ENERGY PARTNERS, L.P., et al.,

Debtors.¹

Chapter 11

Case No. 19-10702 (MFW)

Jointly Administered

Hearing Date: May 4, 2020 at 10:30 a.m. (ET) Objection Deadline: April 23, 2020 at 4:00 p.m. (ET)

SECOND INTERIM AND FINAL APPLICATION OF DAVID M. KLAUDER FOR COMPENSATION FOR SERVICES RENDERED AS FEE EXAMINER, FOR THE PERIOD FROM AUGUST 2, 2019 THROUGH APRIL 8, 2020

Name of Applicant:	David M. Klauder, Fee Examiner
Date of Appointment:	June 3, 2015
Interim Compensation Period for which compensation and reimbursement is sought:	November 1, 2019 through April 8, 2020
Amount of interim compensation sought as actual, reasonable, and necessary:	\$13,082.50
Final Compensation Period for which compensation and reimbursement is sought:	August 2, 2019 through April 8, 2020
Amount of final compensation sought as actual, reasonable, and necessary:	\$20,292.50

This is an \boxtimes interim \boxtimes final application

¹ The debtors and debtors in possession in these chapter 11 cases, along with the last four digits of their respective Employer Identification Numbers, are as follows: Southcross Energy Partners, L.P. (5230); Southcross Energy Partners GP, LLC (5141); Southcross Energy Finance Corp. (2225); Southcross Energy Operating, LLC (9605); Southcross Energy GP LLC (4246); Southcross Energy LP LLC (4304); Southcross Gathering Ltd. (7233); Southcross CCNG Gathering Ltd. (9553); Southcross CCNG Transmission Ltd. (4531); Southcross Marketing Company Ltd. (3313); Southcross NGL Pipeline Ltd. (3214); Southcross Midstream Services, L.P. (5932); Southcross Mississippi Industrial Gas Sales, L.P. (7519); Southcross Mississippi Pipeline, L.P. (7499); Southcross Gulf Coast Transmission Ltd. (0546); Southcross Mississippi Gathering, L.P. (2994); Southcross Delta Pipeline LLC (6804); Southcross Alabama Pipeline LLC (7180); Southcross Nueces Pipelines LLC (7034); Southcross Processing LLC (0672); FL Rich Gas Services GP, LLC (5172); FL Rich Gas Services, LP (0219); FL Rich Gas Utility GP, LLC (3280); FL Rich Gas Utility, LP (3644); Southcross Transmission, LP (6432); T2 EF Cogeneration Holdings LLC (0613); and T2 EF Cogeneration LLC (4976). The debtors' mailing address is 1717 Main Street, Suite 5300, Dallas, TX 75201.



INTERIM COMPENSATION BY PROFESSIONAL NOVEMBER 1, 2019 THROUGH APRIL 8, 2020

Name of Professional Individual	Position (Year of Bar Admission)	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation
Klauder, David	Fee Examiner (2012)	\$350.00	35.9	\$12,565.00
Cook, Barbara	Paralegal	\$115.00	<u>4.5</u>	<u>\$517.50</u>
TOTAL			<u>40.4</u>	<u>\$13,082.50</u>

Grand Total	\$13	3,082.50
Blended Rate	\$	232.50

FINAL COMPENSATION BY PROFESSIONAL AUGUST 2, 2019 THROUGH APRIL 8, 2020

Name of Professional Individual	Position (Year of Bar Admission)	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation
Klauder, David	Fee Examiner (2012)	\$350.00	56.5	<u>\$19,775.00</u>
Cook, Barbara	Paralegal	\$115.00	<u>4.5</u>	<u>\$517.50</u>
TOTAL			<u>61</u>	<u>\$20,292.50</u>

Grand Total	\$20	0,292.50
Blended Rate	\$	232.50

INTERIM COMPENSATION BY PROJECT CATEGORY NOVEMBER 1, 2019 THROUGH APRIL 8, 2020

Project Category	Total Hours	Total Fees
BK/Fee Examiner- Retention and Fee	0.9	\$315.00
Applications		
Case Administration	5.7	\$937.50
Fee/Employment Applications – Retained	28.1	\$9,835.00
Professionals		
BK Retention and Fee Applications	5.6	\$1,960.00
Non-BK Retention and Fee Applications	<u>0.1</u>	<u>\$35.00</u>
TOTAL	<u>40.4</u>	<u>\$13,082.50</u>

FINAL COMPENSATION BY PROJECT CATEGORY AUGUST 2, 2019 THROUGH APRIL 8, 2020

Project Category	Total Hours	Total Fees
BK/Fee Examiner- Retention and Fee	0.9	\$315.00
Applications		
Case Administration	7.4	\$1,532.50
Fee/Employment Applications – Retained	47	\$16,450.00
Professionals		
BK Retention and Fee Applications	5.6	\$1,960.00
Non-BK Retention and Fee Applications	<u>0.1</u>	<u>\$35.00</u>
TOTAL	<u>61</u>	<u>\$20,292.50</u>

CUSTOMARY AND COMPARABLE COMPENSATION DISCLOSURES FOR THE INTERIM COMPENSATION PERIOD OF NOVEMBER 1, 2019 THROUGH APRIL 8, 2020

Position	Blended Hourly Blended Hourly Ra	
	Rate for this	Firm-Wide for Preceding
	Fee Application	Fiscal Year 2019
Fee Examiner	\$350.00 (fee examiner	\$350.00
	fees/hours)	
Aggregate Blended Hourly Rate for this Fee Application	\$350.00	

Project Category	Actual	Actual Billing	Blended	Estimated	Estimated
Description	Hours	Value	Hourly Rate	Hours	Fees
[ALL] BK/Fee Examiner –	0.9	\$315.00	\$350.00	10	\$3,500.00
Retention and Fee					
Applications					
[ALL] Case Administration	5.7	\$937.50	\$350.00	10	\$3,500.00
[ALL] Fee/Employment	28.1	\$9,835.00	\$350.00	20	\$7,000.00
Applications – Retained					
Professionals					
BK Retention and Fee	5.6	\$1,960.00	\$350.00	0	\$0
Applications					
Non-BK Retention and Fee	0.1	\$35.00	\$350	0	\$0
Applications					
TOTALS	40.4	\$13,082.50		40	\$14,000.00

BUDGET FOR SECOND INTERIM PERIOD NOVEMBER 2019 – APRIL 2020

ADDITIONAL INFORMATION RELATED TO INTERIM COMPENSATION PERIOD (NOVEMBER 1, 2019 THROUGH APRIL 8, 2020) <u>WITHIN FINAL FEE APPLICATION</u>

Rates for Interim Period are Higher than those Approved or Disclosed at Retention?	No
Total Compensation Requested for the Interim Period:	\$13,082.50
Compensation Sought in this Final Application Approved to Date for the Interim Period Pursuant to the Interim Compensation Order:	\$0.00
Compensation Sought in this Final Application Already Paid for the Interim Period Pursuant to the Interim Compensation Order:	\$0.00
Compensation Sought in this Final Application Not Yet Paid	\$13,082.50
Number of Professionals Included in this Final Application for the Interim Period:	2
If Applicable, Number of Professionals in this Final Application Not Included in the Staffing Plan for the Interim Period Approved by Client:	0
If Applicable, Difference Between Fees Budgeted and Compensation Sought for the Interim Compensation Period	\$917.50

UNITED STATES BANKRUPTCY COURT DISTRICT OF DELAWARE

)

)

)

)

)

)

)

In re:

SOUTHCROSS ENERGY PARTNERS, L.P., et al.,

Debtors.²

Chapter 11

Case No. 19-10702 (MFW)

Jointly Administered

Hearing Date: May 4, 2020 at 10:30 a.m. (ET) Objection Deadline: April 23, 2020 at 4:00 p.m. (ET)

SECOND INTERIM AND FINAL APPLICATION OF DAVID M. KLAUDER FOR COMPENSATION FOR SERVICES RENDERED AS FEE EXAMINER, FOR THE PERIOD FROM AUGUST 2, 2019 THROUGH APRIL 8, 2020

Pursuant to, inter alia, sections 330 and 331 of Title 11 of the United States Code,

§§ 101-1532 (the "Bankruptcy Code"), Rule 2016 of the Federal Rules of Bankruptcy Procedure

(the "Bankruptcy Rules"), and Rule 2016-2 of the Local Rules of Bankruptcy Practice and

Procedure of the United States Bankruptcy Court for the District of Delaware (the "Local Rules"),

David M. Klauder, the Fee Examiner (the "Fee Examiner"), for the bankruptcy estates (the

"Bankruptcy Estates") of Southcross Energy Partners, L.P., et al. (collectively, the "Debtors"),

hereby files this Second Interim and Final Application of David M. Klauder for Compensation

for Services Rendered as Fee Examiner, for the Period from August 2, 2019 Through April 8,

2020 (the "Application"). By the Application, the Fee Examiner seeks a total interim allowance

² The debtors and debtors in possession in these chapter 11 cases, along with the last four digits of their respective Employer Identification Numbers, are as follows: Southcross Energy Partners, L.P. (5230); Southcross Energy Partners GP, LLC (5141); Southcross Energy Finance Corp. (2225); Southcross Energy Operating, LLC (9605); Southcross Energy GP LLC (4246); Southcross Energy LP LLC (4304); Southcross Gathering Ltd. (7233); Southcross CCNG Gathering Ltd. (9553); Southcross CCNG Transmission Ltd. (4531); Southcross Marketing Company Ltd. (3313); Southcross NGL Pipeline Ltd. (3214); Southcross Midstream Services, L.P. (5932); Southcross Mississippi Industrial Gas Sales, L.P. (7519); Southcross Mississippi Pipeline, L.P. (7499); Southcross Gulf Coast Transmission Ltd. (0546); Southcross Mississippi Gathering, L.P. (2994); Southcross Delta Pipeline LLC (6804); Southcross Alabama Pipeline LLC (7180); Southcross Nueces Pipelines LLC (7034); Southcross Processing LLC (0672); FL Rich Gas Services GP, LLC (5172); FL Rich Gas Services, LP (0219); FL Rich Gas Utility GP, LLC (3280); FL Rich Gas Utility, LP (3644); Southcross Transmission, LP (6432); T2 EF Cogeneration Holdings LLC (0613); and T2 EF Cogeneration LLC (4976). The debtors' mailing address is 1717 Main Street, Suite 5300, Dallas, TX 75201.

Case 19-10702-MFW Doc 952 Filed 04/08/20 Page 10 of 15

with respect to the sum of \$13,082.50 as compensation for the interim period of November 1, 2019 through April 8, 2020 (the "<u>Interim Compensation Period</u>") and final allowance with respect to the total sum of \$20,292.50 as compensation for the period from August 2, 2019 through and including April 8, 2020 (the "<u>Final Compensation Period</u>"). In support of this Application, the Fee Examiner submits the attorney certification attached hereto as Exhibit A (the "<u>Certification</u>"). In further support of this Application, the Fee Examiner respectfully represents as follows:

BACKGROUND

1. On April 1, 2019 (the "<u>Petition Date</u>"), the Debtors filed voluntary petitions for relief under chapter 11 of the Bankruptcy Code.

Pursuant to Order of this Court dated August 2, 2010 [D.I. 405], David M.
 Klauder was appointed as the Fee Examiner for these cases.

COMPENSATION AND ITS SOURCE

3. All services for which compensation is requested by the Fee Examiner were performed for or on behalf of the Bankruptcy Estates.

4. The Fee Examiner has received no payment and no promises for payment from any source for services rendered or to be rendered in any capacity whatsoever in connection with the matters covered by this Application. There is no agreement or understanding between the Fee Examiner and any other person for the sharing of compensation to be received for services rendered in these cases.

5. The fee statements for the Interim Compensation Period are attached hereto as Exhibit B. These statements contain daily time logs describing the time spent by the Fee Examiner during the Interim Compensation Period. To the best of the Fee Examiner's knowledge, this Application complies with sections 330 and 331 of the Bankruptcy Code, the

2

Case 19-10702-MFW Doc 952 Filed 04/08/20 Page 11 of 15

Bankruptcy Rules, the applicable Local Rules and the Fee Examiner believes that this

Application also constitutes a reasonable effort to comply with the *Guidelines for Reviewing*

Applications for Compensation and Reimbursement of Expenses Filed under 11 U.S.C. § 330 by

Attorneys in Larger Chapter 11 Cases Effective as of November 1, 2013 (the "U.S. Trustee"

Guidelines").

SUMMARY OF SERVICES RENDERED

6. The Fee Examiner received no payment and no promise for payment from any source for services rendered other than in accordance with the Bankruptcy Code. There is no agreement or understanding between the Fee Examiner and any other person for the sharing of compensation to be received for the services rendered in these cases.

7. In general, the services that the Fee Examiner rendered in the bankruptcies included, without limitation, the following:

- a. Reviewing Monthly Fee Applications, Interim Fee Applications and Final Fee Applications filed by each Applicant in these chapter 11 cases, along with the Fee Detail related thereto;
- b. Consulting with each Applicant concerning such Applications; and
- c. General case administration and case review.

8. The legal services rendered by the Fee Examiner in the bankruptcies have

been provided with as little duplication as possible and are detailed by professional and project category in Exhibit B.

SUMMARY OF SERVICES BY PROJECT

9. The services rendered by the Fee Examiner during the Interim Compensation Period and the Final Compensation Period can be grouped into the categories set forth below. These categories are generally described as follows: a. [ALL] BK/Fee Examiner – Retention and Fee Applications
Interim Compensation Period: Fees: \$315.00; Total Hours: 0.9
Final Compensation Period: Fees: \$315.00; Total Hours: 0.9

This category includes time spent regarding preparation of employment and fee applications for Bielli & Klauder, LLC and self.

b. [ALL] Case Administration

Interim Compensation Period: Fees: \$937.50; Total Hours: 5.7

Final Compensation Period: Fees: \$1,532.50; Total Hours: 7.4

This category includes time spent regarding coordination and compliance activities, and general case review.

c. [ALL] Fee/Employment Applications – Retained Professionals

Interim Compensation Period: Fees: \$9,835.00; Total Hours: 28.1

Final Compensation Period: Fees: \$16,450.00; Total Hours: 47

This category includes time spent reviewing fee applications and preparing fee application reports for retained professionals.

d. BK– Retention and Fee Applications

Interim Compensation Period: Fees: \$1,960.00; Total Hours: 5.6

Final Compensation Period: Fees: \$1,960.00; Total Hours: 5.6

This category includes time spent regarding preparation of employment and fee applications for Bielli & Klauder, LLC and self.

e. Non-BK– Retention and Fee Applications

Interim Compensation Period: Fees: \$35.00; Total Hours: 0.1

Final Compensation Period: Fees: \$35.00; Total Hours: 0.1

This category includes time spent regarding review of other professional

retention applications.

VALUATION OF SERVICES

10. The Fee Examiner has extended a total of 40.4 hours in connection with this matter during the Interim Compensation Period, as follows:

INTERIM COMPENSATION PERIOD

NAME	HOURS	HOURLY RATE
David M. Klauder	35.9	\$350.00
Barbara Cook	4.5	\$115.00

11. The Fee Examiner has extended a total of 61 hours in connection with this matter during the Final Compensation Period, as follows:

FINAL COMPENSATION PERIOD

NAME	HOURS	HOURLY RATE
David M. Klauder	56.5	\$350.00
Barbara Cook	4.5	\$115.00

The nature of the work performed by the Fee Examiner is fully set forth in Exhibit B attached hereto. This is the Fee Examiner's normal hourly rate for work of this character. The reasonable value of the services rendered by the Fee Examiner for the Bankruptcy Estates during the Interim Compensation Period is \$13,082.50 and during the Final Compensation Period is \$20,292.50.

12. In accordance with the factors enumerated in section 330 of the Bankruptcy Code, it is respectfully submitted that the amount requested by the Fee Examiner is fair and reasonable given (a) the complexity of these cases, (b) the time expended, (c) the nature and extent of the services rendered, (d) the value of such services and (e) the costs of comparable

Case 19-10702-MFW Doc 952 Filed 04/08/20 Page 14 of 15

services other than in a case under this title. Moreover, the Fee Examiner submits that this Application is compliant with Local Rule 2016-2.

DISCLOSURES PURSUANT TO THE U.S. TRUSTEE GUIDELINES

13. Section C.5 of the U.S. Trustee Guidelines requires an applicant to respond to six questions relating to its fee application. The Fee Examiner's disclosures in response to the six questions are contained in the Certification attached hereto as Exhibit A.

NOTICE

14. The Fee Examiner shall provide notice of this Application on the date hereof via U.S. first class mail to: (i) the Office of the United States Trustee for the District of Delaware; and (ii) all parties who filed a request for service of notices under Bankruptcy Rule 2002. The Fee Examiner submit that no further notice is necessary under the circumstances.

WHEREFORE, the Fee Examiner respectfully requests that the Court authorize that for the period November 1, 2019 through April 8, 2020, an interim allowance be made to the Fee Examiner with respect to the sum of \$13,082.50, and for the period August 2, 2019 through April 8, 2020, a final allowance be made to the Fee Examiner with respect to the sum of \$20,292.50, pursuant to the terms of the Administrative Order, as total compensation for necessary professional services rendered, and that such sums be authorized for payment and for such other and further relief as this Court may deem just and proper.

BIELLI & KLAUDER, LLC

Dated: April 8, 2020

<u>/s/ David M. Klauder</u> David M. Klauder (No. 5769) 1204 N. King Street Wilmington, DE 19801 Telephone: (302) 803-4600 Facsimile: (302) 397-2557 dklauder@bk-blegal.com

Fee Examiner

EXHIBIT A

UNITED STATES BANKRUPTCY COURT DISTRICT OF DELAWARE

)

In re:

SOUTHCROSS ENERGY PARTNERS, L.P., *et al.*,

Debtors.¹

Chapter 11

Case No. 19-10702 (MFW)

Jointly Administered

Hearing Date: May 4, 2020 at 10:30 a.m. (ET) Objection Deadline: April 23, 2020 at 4:00 p.m. (ET)

CERTIFICATION REGARDING SECOND INTERIM AND FINAL APPLICATION OF DAVID M. KLAUDER FOR COMPENSATION FOR SERVICES RENDERED AS FEE EXAMINER, FOR THE PERIOD FROM AUGUST 2, 2019 THROUGH APRIL 8, 2020

1. I am an attorney admitted to practice in the State of Delaware and before this

Court.

2. I am making this certification regarding the Seventh Interim and Final

Application of David M. Klauder (the "Fee Examiner") for Compensation for Services Rendered

as Fee Examiner, for the Period from August 2, 2019 Through April 8, 2020 (the "Application")

to certify to certain matters addressed in the Order Establishing Procedures for Interim

Compensation and Reimbursement of Expenses of Professionals (the "Interim Compensation

<u>Order</u>").

¹ The debtors and debtors in possession in these chapter 11 cases, along with the last four digits of their respective Employer Identification Numbers, are as follows: Southcross Energy Partners, L.P. (5230); Southcross Energy Partners GP, LLC (5141); Southcross Energy Finance Corp. (2225); Southcross Energy Operating, LLC (9605); Southcross Energy GP LLC (4246); Southcross Energy LP LLC (4304); Southcross Gathering Ltd. (7233); Southcross CCNG Gathering Ltd. (9553); Southcross CCNG Transmission Ltd. (4531); Southcross Marketing Company Ltd. (3313); Southcross NGL Pipeline Ltd. (3214); Southcross Midstream Services, L.P. (5932); Southcross Mississippi Industrial Gas Sales, L.P. (7519); Southcross Mississippi Pipeline, L.P. (7499); Southcross Gulf Coast Transmission Ltd. (0546); Southcross Mississippi Gathering, L.P. (2994); Southcross Delta Pipeline LLC (6804); Southcross Alabama Pipeline LLC (7180); Southcross Nueces Pipelines LLC (7034); Southcross Processing LLC (0672); FL Rich Gas Services GP, LLC (5172); FL Rich Gas Services, LP (0219); FL Rich Gas Utility GP, LLC (3280); FL Rich Gas Utility, LP (3644); Southcross Transmission, LP (6432); T2 EF Cogeneration Holdings LLC (0613); and T2 EF Cogeneration LLC (4976). The debtors' mailing address is 1717 Main Street, Suite 5300, Dallas, TX 75201.

Case 19-10702-MFW Doc 952-1 Filed 04/08/20 Page 3 of 4

3. Specifically, I have reviewed the Application and I hereby certify that such

application complies with the Interim Compensation Order and the applicable provisions of the

Bankruptcy Code, the Bankruptcy Rules and the Local Rules. I hereby certify that, in

accordance with the Interim Compensation Order, and in connection with preparing the

Application, the Fee Examiner has made a reasonable effort to comply with the U.S. Trustee's

requests for information and additional disclosures set forth in the Guidelines for Reviewing

Applications for Compensation and Reimbursement of Expenses Filed Under 11 U.S.C. §330 by

Attorneys in Larger Chapter 11 Cases, effective November 1, 2013 (the "U.S. Trustee

Guidelines"). To that end, the Fee Examiner specifically responds to certain questions identified

in the U.S. Trustee Guidelines as follows:

a. <u>Question 1</u>: Did the Fee Examiner agree to any variations from, or alternatives to, the Fee Examiner's standard or customary billing rates, fees or terms for services pertaining to this engagement that were provided during the application period? If so, please explain.

Answer: No.

b. <u>Question 2</u>: If the fees sought in the Application are higher than the fees budgeted by 10% or more, did the Fee Examiner discuss the reasons for the variation with the Client?

<u>Answer</u>: The fees sought in the Application are less than the fees budgeted for the time period covered by such application.

c. <u>Question 3</u>: Have any of the professionals included in the Application varied their hourly rate based on geographic location of the bankruptcy case?

Answer: No.

d. <u>Question 4</u>: Does the Application include time or fees related to reviewing or revising time records or preparing, reviewing or revising invoices?

Answer: No.

e. <u>Question 5</u>: Does the Application include time for fees for reviewing time records to redact any privileged or other confidential information? If so, please quantify hours and fees.

Answer: No.

f. <u>Question 6</u>: Does the Application include any rate increases since retention in this case?

Answer: No.

BIELLI & KLAUDER, LLC

Dated April 8, 2020 Wilmington, Delaware /s/ David M. Klauder David M. Klauder (No. 5769) 1204 N. King Street Wilmington, DE 19801 Telephone: (302) 803-4600 Facsimile: (302) 397-2557 dklauder@bk-blegal.com

Fee Examiner

EXHIBIT B

Bielli & Klauder, LLC 1204 North King Street Wilmington, DE 19801 215-642-8271

04-07-2020

Southcross Energy Partners, L.P., et al.

Invoice Number: 2063

Invoice Period: 11-01-2019 - 04-08-2020

Payment Terms: Upon Receipt

RE: Fee Examiner

Time Details

Date	Professional	Task	Hours	Rate	Amount
11-15-2019	David Klauder	[ALL] BK/Fee Examiner - Retention and Fee Applications	0.20	350.00	70.00
	Begin prep of inte	erim fee app			
11-15-2019	Barbara Cook B110 - Case Adn	B110 - Case Administration ninistration	0.40	115.00	46.00
	Time Entries forn	natted for fee app; to DMK for review			
11-18-2019	David Klauder	B110 - Case Administration nd recent pleadings for update on case	0.30	350.00	105.00
	Review docket a	nu recent pleadings for update of case			
11-18-2019	David Klauder	[ALL] BK Retention and Fee Applications first interim fee app	0.50	350.00	175.00
		instituterini iee app			
11-18-2019	David Klauder	[ALL] Fee/Employment Applications - Retained Professionals	0.20	350.00	70.00
	Review notice of	interim fee apps and filed apps by professionals	3		
11-18-2019	Barbara Cook	B110 - Case Administration	0.20	115.00	23.00
	B110 - Case Adn	ninistration			
	Time Entries revi	sed; to DMK for review			
11-20-2019	Barbara Cook	B110 - Case Administration	1.50	115.00	172.50
	B110 - Case Adn	ninistration			
	Fee Examiner Ap	oplication formatted for filing; to DMK for review			
11-20-2019	Barbara Cook B110 - Case Adn	B110 - Case Administration ninistration	0.30	115.00	34.50
	First Interim Fee	Examiner Application efiled in DE BK Ct; awaitir	nd acceptance	2	
			ig acceptance	,	

	Case 19-	10702-MFW	Doc 952-2	Filed 04	1/08/20	Page 3 of 11	L
Date	Professional	Task			Hours	Rate	Amount
11-20-2019	David Klauder	Fee Application			0.50	350.00	175.00
	Review and edit	BK interim fee app	o and coordinate f	iling and se	rvice of san	ne	
11-21-2019	David Klauder	B110 - Case Ad	Iministration		0.10	350.00	35.00
	Review notice of	plan extension					
11-25-2019	David Klauder Email from Deloit	[ALL] BK Reten tte re: monthly fee	tion and Fee App app	ications	0.10	350.00	35.00
12-02-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons -	0.50	350.00	175.00
	Initial review of ir	nterim fee apps					
12-02-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons -	0.90	350.00	315.00
	Review time deta	ail for MNAT 2nd i	nterim fee app				
12-03-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio ssionals	ons -	1.50	350.00	525.00
	Review time and	fee detail for Dav	is Polk interim fee	app			
12-03-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons -	1.40	350.00	490.00
	Review time and	fee detail for A&N	l interim fee app				
12-03-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio ssionals	ons -	0.70	350.00	245.00
	Review time and	fee detail for Delo	oitte interim fee ap	р			
12-03-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons -	0.30	350.00	105.00
	Review Evercore	e interim fee app					
12-04-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons -	1.50	350.00	525.00
	Review interim fe	ee apps					
12-05-2019	David Klauder	B110 - Case Ad			0.10	350.00	35.00
	Review notice re	: continued confirr	nation nearing				
12-05-2019	David Klauder	Retained Profes		ons -	0.10	350.00	35.00
	Review email fro	m Davis Polk re: r	nonthly fee app				
12-05-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicationsionals	ons -	0.50	350.00	175.00
	Continued review	v of interim fee ap	ps				
12-05-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ns -	0.60	350.00	210.00
	Begin preparing	interim reports					
12-06-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons -	0.20	350.00	70.00
			We appreciate	your business			Page 2 of 10

Date	Case 19-: Professional	10702-MFW Task	Doc 952-2	Filed 04/08/20 Hours	Page 4 of 11 Rate	Amount
Dute		T re: comments to	o interim report	Tiours	Nutc	Amount
12-06-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio	ons - 0.30	350.00	105.00
	Emails and phon	e call with Davis F		s to interim report		
12-06-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio	ons - 0.50	350.00	175.00
	Draft and send in	iterim report to Al				
12-06-2019	David Klauder	Retained Profes		ons - 0.50	350.00	175.00
	Draft and send in	nterim report to De	loitte			
12-06-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio ssionals	ons - 0.20	350.00	70.00
	Follow up emails	with A&M re: reso	olution of interim r	eport issues		
12-08-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio	ons - 0.80	350.00	280.00
	Draft final report	Retained Froids	551011015			
12-09-2019	David Klauder		oyment Applicatio	ons - 0.20	350.00	70.00
	Emails with A&M	Retained Profes		95		
12-09-2019	David Klauder	Retained Profes			350.00	105.00
	Emails and phon	e call with Deloitte	e re: resolution of	interim report issues		
12-10-2019	Barbara Cook B110 - Case Adn	B110 - Case Ac ninistration	Iministration	0.50	115.00	57.50
	Final Fee Report	formatted for filing	a: to DMK for revi	ew/		
			g, to Divit for fevr	CW		
12-10-2019	Barbara Cook B110 - Case Adn	B110 - Case Ac ninistration	Iministration	0.30	115.00	34.50
	Final Fee Report	efiled in DE BK C	t; awaiting accep	tance		
12-10-2019	Barbara Cook B110 - Case Adn	B110 - Case Ac ninistration	Iministration	0.30	115.00	34.50
	Filed Final Fee R	Report served to al	Il parties via email	l; saved in file		
12-10-2019	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio	ons - 0.70	350.00	245.00
	Edit final report a	ind coordinate filin				
12-11-2019	Barbara Cook B110 - Case Adn	B110 - Case Ac ninistration	Iministration	0.40	115.00	46.00
	CNO drafted for I	Fee Application; to	DMK for review			
12-11-2019	Barbara Cook	B110 - Case Ad	Iministration	0.20	115.00	23.00

Page 3 of 10

Data	Case 19-: Professional	10702-MFW	Doc 952-2	Filed 0	4/08/20	Page 5 of 11 Rate	Amount
Date	B110 - Case Adn	Task			Hours	Rate	Amount
			Ct; awaiting accep	otance			
12-11-2019	David Klauder	Retained Profe		ons -	0.10	350.00	35.00
	Phone call with d	ebtor's counsel re	e: fee order				
12-11-2019	David Klauder	Retained Profe	loyment Applications in the second seco	ons -	0.20	350.00	70.00
	Review fee order						
12-11-2019	David Klauder	Fee Application		on and	0.20	350.00	70.00
	Review and edit	CNO for interim fe	ee app				
12-17-2019	David Klauder Review plan and	B110 - Case Ad disc stmt filings	dministration		0.20	350.00	70.00
12-17-2019	David Klauder Review agenda f	B110 - Case Ao or 12/19 hearing	dministration		0.10	350.00	35.00
01-08-2020	David Klauder Review notice of	B110 - Case Ao confirmation hea			0.10	350.00	35.00
01-08-2020	David Klauder	[ALL] Fee/Emp Retained Profe	loyment Applications ssionals	ons -	0.10	350.00	35.00
	Email from Alvare	ez re: monthly fee	e app				
01-24-2020	David Klauder Review agenda f	B110 - Case Ao or confirmation he			0.10	350.00	35.00
01-24-2020	David Klauder	Retained Profe		ons -	0.10	350.00	35.00
	Review email from	m Evercore with f	ee app				
01-27-2020	David Klauder Review agenda f	B110 - Case Ao or 1/27 hearing	dministration		0.10	350.00	35.00
02-11-2020	David Klauder	[ALL] Fee/Emp Retained Profe	loyment Applications ssionals	ons -	0.10	350.00	35.00
	Review email from	m A&M with fee a	ipp				
02-19-2020	David Klauder	[ALL] Fee/Emp Retained Profe	loyment Applications ssionals	ons -	0.10	350.00	35.00
	Review email wit	h Deloitte fee app)				
02-24-2020	David Klauder	Retained Profe		ons -	0.10	350.00	35.00
	Review email wit	h Alvarez fee app)				
02-24-2020	David Klauder	Retained Profe		ons -	0.10	350.00	35.00
	Review email wit	h final fee app fro	m Evercore				

Date	Case 19- Professional	10702-MFW Task	Doc 952-2	Filed	04/08/20 Hours	Page 6 of 11 Rate	Amount
02-24-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons -	0.20	350.00	70.00
	Emails with debt	or's counsel re: fin	al fee app schedu	ıle			
02-24-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio ssionals	ons -	0.10	350.00	35.00
	Follow up phone	call with debtor's	counsel re: final f	ee app so	chedule		
02-26-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio ssionals	ons -	0.20	350.00	70.00
	Review email wit	th Davis Polk final	fee app				
02-27-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicationsionals	ons -	0.10	350.00	35.00
	Emails with MNA	T re: final fee app	detail				
03-02-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio ssionals	ons -	1.00	350.00	350.00
	Review MNAT fir	nal fee app					
03-02-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio ssionals	ons -	0.80	350.00	280.00
	Review other pro	ofessionals final fe	e apps including I	PwC, Del	oitte and KCC		
03-03-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicationsionals	ons -	1.40	350.00	490.00
	Review Davis Po	olk final fee app					
03-03-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons -	1.00	350.00	350.00
	Review Alvarez f	final fee app					
03-09-2020	David Klauder	Retained Profes	oyment Applicatio	ons -	0.50	350.00	175.00
	Review Davis Po	olk interim fee app					
03-10-2020	David Klauder Review Davis Po		tion and Fee App	lications	0.80	350.00	280.00
03-10-2020	David Klauder Review A&M fina		tion and Fee App	lications	0.70	350.00	245.00
03-10-2020	David Klauder Review various f		tion and Fee App	lications	0.80	350.00	280.00
03-11-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio	ons -	0.30	350.00	105.00
	Review Evercore						
03-12-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatio	ons -	0.70	350.00	245.00
	Review MNAT fir						

	Case 19-	10702-MFW	Doc 952-2	Filed 04/08/2	20	Page 7 of 11	
Date	Professional	Task		-	urs	Rate	Amount
03-13-2020	David Klauder	Retained Profes		ons - 2	2.10	350.00	735.00
	Review Interim le	e apps and draft i	interim reports				
03-16-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons - 0	.20	350.00	70.00
	Emails with debte	or's counsel re: int	terim report status	;			
03-16-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons - 1	.60	350.00	560.00
	Review of final fe	e apps and draft i	interim reports for	delivery by email			
03-16-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic	ons - O).10	350.00	35.00
	Review initial res	ponse by DPW to					
03-16-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic	ons - 0).10	350.00	35.00
	Review initial res	ponse by KCC to					
03-18-2020	David Klauder	[ALL] Non-BK F Applications	Retention and Fee	0).10	350.00	35.00
	Review email fro	m A&M re: interim	ı report				
03-19-2020	David Klauder	[ALL] Fee/Empl Retained Profes re: resolution of in		ons - 0	.20	350.00	70.00
			ntenin report				
03-20-2020	David Klauder	Retained Profes			.30	350.00	105.00
	Phone call/emails	s with Davis Polk	re: interim fee app) issues			
03-23-2020	David Klauder	Retained Profes	oyment Applicatic ssionals	ons - 0	0.40	350.00	140.00
	Review Evercore	final fee app					
03-23-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons - 0	.80	350.00	280.00
	Draft final report						
03-24-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic ssionals	ons - 1	.10	350.00	385.00
	Edit final report						
03-25-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic	ons - 0).10	350.00	35.00
	Review email fro	m PwC re: interim	report issues				
03-27-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic	ons - O).20	350.00	70.00
	Emails with debto	or's counsel re: sta	atus of final fee ap	op review			
03-27-2020	David Klauder	[ALL] Fee/Empl Retained Profes	oyment Applicatic	ons - 0).10	350.00	35.00
	Review email fro	m PwC re: interim					

Date	Case 19-10702-MFW Doc 952-2 Filed 04/0 Professional Task	08/20 Hours	Page 8 of 11 Rate	Amount
03-30-2020	David Klauder [ALL] Fee/Employment Applications - Retained Professionals	0.20	350.00	70.00
	Emails with KCC re: resolution of interim report issues			
03-30-2020	David Klauder [ALL] Fee/Employment Applications - Retained Professionals	0.50	350.00	175.00
	Review response from PwC to interim report issues and emails wi	th them r	e: same	
03-30-2020	David Klauder [ALL] Fee/Employment Applications - Retained Professionals	0.10	350.00	35.00
	Review follow up email from PwC re: resolution of interim report			
03-31-2020	David Klauder [ALL] Fee/Employment Applications - Retained Professionals	0.50	350.00	175.00
	Final review of final report and coordinate filing of same			
03-31-2020	Barbara Cook B110 - Case Administration B110 - Case Administration	0.40	115.00	46.00
	Final Fee Examiner report/supporting docs formatted for filing; to I	ОМК		
03-31-2020	David Klauder [ALL] Fee/Employment Applications - Retained Professionals	0.10	350.00	35.00
	Emails with debtor's counsel re: status of final fee apps			
04-02-2020	David Klauder B110 - Case Administration Review hearing agenda	0.10	350.00	35.00
04-03-2020	David Klauder [ALL] Fee/Employment Applications - Retained Professionals	0.20	350.00	70.00
	Review final fee order and emails with debtor's counsel re: same			
04-03-2020	David Klauder [ALL] Fee/Employment Applications - Retained Professionals	0.10	350.00	35.00
	Review signed final fee order			
04-06-2020	David Klauder [ALL] BK Retention and Fee Applications Review and edit BK final fee app	0.80	350.00	280.00
04-06-2020	David Klauder [ALL] BK Retention and Fee Applications Review interim comp order and emails with debtor's counsel re: he	0.20 earing for	350.00 final fee app	70.00
04-07-2020	David Klauder [ALL] BK Retention and Fee Applications Edit BK final fee app	0.50	350.00	175.00
04-08-2020	David Klauder [ALL] BK Retention and Fee Applications Final review and edits to BK final fee app and coordinate filing of s	1.20 same	350.00	420.00
			Total Fees	13,082.50
Time Sum	mary			
Professional	-		Hours	Amount
Barbara Cook	<		4.50	517.50

Page 7 of 10

	Case 19-10702-MFW	Doc 952-2	Filed 04/08/20	Page 9 of 11	
Professional				Hours	Amount
David Klauder				35.90	12,565.00
				Total Fees	13,082.50
Task				Hours	Amount
B110 - Case Adr	ninistration			5.70	937.50
[ALL] BK Retenti	on and Fee Applications			5.60	1,960.00
[ALL] BK/Fee Ex	aminer - Retention and Fee Appli	cations		0.90	315.00
[ALL] Fee/Emplo	yment Applications - Retained Pr	ofessionals		28.10	9,835.00
[ALL] Non-BK Re	etention and Fee Applications			0.10	35.00
				Total Fees	13,082.50

Total for this Invoice13,082.50

Client Statement of Account

As of 04-08-2020

Matter		Invoices / Credits	Trust	Balance Due
Fee Examine	r	13,082.50		13,082.50
		Total Amo	Total Amount to Pay	
Fee Exami	ner			
Transactio	ns			
Date	Transaction	Applied	Invoice	Amount
04-07-2020	Invoice 2063			13,082.50
			Balance	13,082.50
Open Invoi	ces and Credits			
Date	Transaction	Amount	Applied	Balance
04-07-2020	Invoice 2063	13,082.50		13,082.50
			Balance	13,082.50

Southcross Energy Partners, L.P., et al.

04-07-2020

Bielli & Klauder, LLC 1204 North King Street Wilmington, DE 19801

Invoice Number: 2063 Invoice Period: 11-01-2019 - 04-08-2020

REMITTANCE COPY

Please Include with Payment

RE: Fee Examiner

	Fee	es 13,082.50
	Total for this Invoid	ce 13,082.50
Matter	Invoices / T Credits	rust Balance Due
Fee Examiner	13,082.50 Total Amount to	13,082.50 Pay 13,082.50

Open Invoices and Credits

Date	Transaction	Matter	Amount	Applied	Balance
04-07-2020	Invoice 2063	Fee Examiner	13,082.50		13,082.50
				Balance	13,082.50

Payment Instructions (Wire, ACH, Check): Bank: TD Bank NA BA: 036001808 Account Name: Bielli & Klauder, LLC Account No.: 4378302172

UNITED STATES BANKRUPTCY COURT DISTRICT OF DELAWARE

)

In re:

SOUTHCROSS ENERGY PARTNERS, L.P., *et al.*,

Debtors.¹

Chapter 11

Case No. 19-10702 (MFW)

Jointly Administered

Re: Docket No.

ORDER APPROVING SEVENTH INTERIM AND FINAL APPLICATION OF DAVID M. KLAUDER FOR COMPENSATION FOR SERVICES RENDERED AS FEE EXAMINER, FOR THE PERIOD FROM AUGUST 2, 2019 THROUGH APRIL 8, 2020

David M. Klauder, the Fee Examiner (the "<u>Fee Examiner</u>"), having filed the Seventh Interim and Final Application of David M. Klauder for Compensation for Services Rendered as Fee Examiner, for the Period from August 2, 2019 Through April 8, 2020 (the "<u>Application</u>"); and parties-in-interest having received adequate notice; and the Court having considered the Application and having found the amounts requested in the Application to be reasonable; it is hereby;

ORDERED that the Application is granted, and the Fee Examiner is allowed compensation,

on an interim basis, in the sum of \$13,082.50 for services rendered for the period from November

¹ The debtors and debtors in possession in these chapter 11 cases, along with the last four digits of their respective Employer Identification Numbers, are as follows: Southcross Energy Partners, L.P. (5230); Southcross Energy Partners GP, LLC (5141); Southcross Energy Finance Corp. (2225); Southcross Energy Operating, LLC (9605); Southcross Energy GP LLC (4246); Southcross Energy LP LLC (4304); Southcross Gathering Ltd. (7233); Southcross CCNG Gathering Ltd. (9553); Southcross CCNG Transmission Ltd. (4531); Southcross Marketing Company Ltd. (3313); Southcross NGL Pipeline Ltd. (3214); Southcross Midstream Services, L.P. (5932); Southcross Mississippi Industrial Gas Sales, L.P. (7519); Southcross Mississippi Pipeline, L.P. (7499); Southcross Gulf Coast Transmission Ltd. (0546); Southcross Mississippi Gathering, L.P. (2994); Southcross Delta Pipeline LLC (6804); Southcross Alabama Pipeline LLC (7180); Southcross Nueces Pipelines LLC (7034); Southcross Processing LLC (0672); FL Rich Gas Services GP, LLC (5172); FL Rich Gas Services, LP (0219); FL Rich Gas Utility GP, LLC (3280); FL Rich Gas Utility, LP (3644); Southcross Transmission, LP (6432); T2 EF Cogeneration Holdings LLC (0613); and T2 EF Cogeneration LLC (4976). The debtors' mailing address is 1717 Main Street, Suite 5300, Dallas, TX 75201.

Case 19-10702-MFW Doc 952-3 Filed 04/08/20 Page 2 of 2

1, 2019 through April 8, 2020, and on a final basis, in the sum of \$20,292.50 for services rendered for the period from August 2, 2019 through April 8, 2020, which amount shall constitute an allowed administrative expense in this chapter 7 case; and it is further

ORDERED that this Court shall retain jurisdiction over any and all matters arising from or relating to the interpretation or implementation of this order.

UNITED STATES BANKRUPTCY COURT DISTRICT OF DELAWARE

)

In re:

SOUTHCROSS ENERGY PARTNERS, L.P., *et al.*,

Debtors.¹

Chapter 11

Case No. 19-10702 (MFW)

Jointly Administered

Hearing Date: May 4, 2020 at 10:30 a.m. (ET) Objection Deadline: April 23, 2020 at 4:00 p.m. (ET)

NOTICE OF SECOND INTERIM AND FINAL APPLICATION OF DAVID M. KLAUDER FOR COMPENSATION FOR SERVICES RENDERED AS FEE EXAMINER, FOR THE PERIOD FROM AUGUST 2, 2019 THROUGH APRIL 8, 2020

PLEASE TAKE NOTICE THAT David M. Klauder, Fee Examiner (the "Fee Examiner"), has filed the attached *Second Interim and Final Application of David M. Klauder for compensation for Services Rendered as Fee Examiner, for the Period form August 2, 2019 through April 8, 2020* (the "Application") in the above-captioned chapter 11 case.

You are required to file a response to the Application on or before <u>April 23, 2020 at</u> <u>4:00 p.m. (ET)</u>.

At the same time, you must also serve a copy of the response upon the Fee Examiner:

David M. Klauder, Esquire BIELLI & KLAUDER, LLC 1204 N. King Street Wilmington, DE 19801 Phone: (302) 803-4600 Fax: (302) 397-2557 dklauder@bk-legal.com

¹ The debtors and debtors in possession in these chapter 11 cases, along with the last four digits of their respective Employer Identification Numbers, are as follows: Southcross Energy Partners, L.P. (5230); Southcross Energy Partners GP, LLC (5141); Southcross Energy Finance Corp. (2225); Southcross Energy Operating, LLC (9605); Southcross Energy GP LLC (4246); Southcross Energy LP LLC (4304); Southcross Gathering Ltd. (7233); Southcross CCNG Gathering Ltd. (9553); Southcross CCNG Transmission Ltd. (4531); Southcross Marketing Company Ltd. (3313); Southcross NGL Pipeline Ltd. (3214); Southcross Midstream Services, L.P. (5932); Southcross Mississippi Industrial Gas Sales, L.P. (7519); Southcross Mississippi Pipeline, L.P. (7499); Southcross Gulf Coast Transmission Ltd. (0546); Southcross Mississippi Gathering, L.P. (2994); Southcross Delta Pipeline LLC (6804); Southcross Alabama Pipeline LLC (7180); Southcross Nueces Pipelines LLC (7034); Southcross Processing LLC (0672); FL Rich Gas Services GP, LLC (5172); FL Rich Gas Services, LP (0219); FL Rich Gas Utility GP, LLC (3280); FL Rich Gas Utility, LP (3644); Southcross Transmission, LP (6432); T2 EF Cogeneration Holdings LLC (0613); and T2 EF Cogeneration LLC (4976). The debtors' mailing address is 1717 Main Street, Suite 5300, Dallas, TX 75201.

HEARING ON THE APPLICATION WILL BE HELD ON, <u>May 4, 2020 at 10:30 a.m.</u> (<u>ET</u>) before the Honorable Mary F. Walrath at the United States Bankruptcy Court for the District of Delaware, 824 North Market Street, 5th Floor, Wilmington, DE 19801 in Courtroom Number 4.

IF YOU FAIL TO RESPOND IN ACCORDANCE WITH THIS NOTICE, THE COURT MAY GRANT THE RELIEF DEMANDED IN THE APPLICATION WITHOUT FURTHER NOTICE OR HEARING.

BIELLI & KLAUDER, LLC

Date: April 8, 2020

<u>/s/ David M. Klauder</u> David M. Klauder (No. 5769) 1204 N. King Street Wilmington, DE 19801 Phone: (302) 803-4600 Fax: (302) 397-2557 dklauder@bk-legal.com

Fee Examiner